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In 1-12, solve the equation. -
1. x2=49 2. x* =64 3. 3x2 =300
5. %xz =3 6. %xz =9 7. 25x2 =4
9. x%—56 =125 10. 3x? 410 =37 1. Ix2—-16=34

[n 13-24, use a calculator to solve the equation. Round the results to two
decimal places.

13, x2 =135 14 x> =12 15. x?4+8 =13
17. x2 +20 =37 18. x> —10= -3 19. 3x%2 —-31=2
21, 4x2 +8 =19 2. 1x2+6=9 23, 2x* —22 =151
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4, 8x2 =128
8. x2+11=12

12, 4x? —59 =62

16. x2 —-5=21

20. 2x2—8=26

2. 1x2—11=13
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In 1-12, decide whether the graph of the equation opens up or down. Then
find the coordinates of the vertex.

1. y=3x? 2 y+2x2=0 3
4. y=x>+6x 5. y—8=-3x? 6.
7. y=x*4+6x+2

8. y=2x2—4x+3 9,

10, y= —2x?44x -1 N, y—x?2=2x+4 12,
In -13—24, sketch the graph of the equ_ation.@@

13, y=-—x2—4 18, y=x>+6x+5 15,
16. y=x>+2x—15 17 y=2x>—x—1 18.
19. y=—2x>—8x+20 20 y=2x>—6x+4 21,
22, y:—§x2+4x—7 23. y=%x2+2xﬁ1 24,

y=5x2-1
y = —2x> — 8x
y=3x2—-12x —2

y+3:'——x2+4x

y:—-xz-—4x-3
y=x>—6x+10
y=——x2+2x+5

1
y=2x2-§x+l
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In 1-12, use the quadratic formuia to solve the equation.

1. x2 —8x+15=0 2 2+ 1x+18=0 3. 2x%243x—-2=0
4, 42 —Tx +3=0 5. 8x2426x —15=0 6. x24+3x—~5=0
7. x*—Tx+1=0 8. 3x>+8x+2=0 9, 3x2+x—-6=0
10, 222 —5x —8=0 11, 5x2—3x—5=0 12, 722 —21x +8=0

In 13-24, find the x-intercepts of the graph of the equation.

13. y=x>+2x—8 14, y=2x*—-5x -3 | 15, y=6x*—x—12
16, y=x>+2x+38 17. y:3x2+5x+1 18, y=5x? +50x+1
19, y =2x*—18x —3 20, y=4x2+11x—2 21, y=2x2—x+13
2. y=x*+3x+1 23 y=7x*>—12x+4 24. y=3xi+2x~34
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In 1-12, decide how many solutions the equation has.

1. x24+2x+1=0 2, 2x2—5x—3=0 3. x*44x—2=0
4 x2+2x+6=0 5 2x24x—15=0 6. —3x24+4x+1=0
7. 2x* —x +16 =0 _ 8. 4x?+12x+9=0 8. 25x2—10x+1=0

10. 12x2 —19x+5=0 11, 6x2+25x+21=0 12, 3x2—-5x4+4=0



in 1-12, solve the equation by factoring.

1, x*4+x—6=0 2, x2—-8x+15=0 3. 3x2+9x—12=0
4 6x%—10x —4=0 5, 6x2—27x+27=0 6. 3x2+5x+2=0
7. 8x2+ 10x +3=0 8. 4x> —8x—5=0 9. 12x2—5x—3=0
10. 15x%2+16x—15=0 11, 8x2 —22x+5=0 12, 6x2+5x+1=0

In 13-24, solve the equation by finding square roots, by the quadra_tic
formula, or by factoring.

13, 4x2—9=0 14. x? +6x =0 15, x2—4x+1=0
16. x%+21=10x 17. 24+ Tx =1 18. 2x2 —3x—4=0
19. 2x* = 16x | 20. 2x® +12x +10 = —8 21, 242 —x=6

2, 12x2+xv—1=-0 23, 2x2 +Tx =4 24, 2x% +3x +5=8
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in 1-12, solve the equation by completing the square.

1. x2+10x —-4=0 2. x24+6x—1=0 3 x2-8x+3=0
4 x2—-6x—8=0 ' 5 x2+12x —3=0 6. x2+4x+2=0
7. 22— 10x +4=0 8. x2+8x+8=0 8 22 48x—6=0
10. 2x* —16x +4 =0 11, 3x?+12x—6=0 2. 532 — 10z ~20=0

in 1324, use the most convenient method to solve the equation.

13. x2—T7x+12=0 14, 9x%> —27x =0 15. 3x2—15=0
16. x2+4x—4=0 17. 9x* +2=27 : 18. 2x? +x—3=0
2x2+8x+3=10 20. 3x24+4x —-2=0 21, 5x2—x—-2=0

22 6x241lx =—3 23. x% —20x +60 =0 24, x24+5="7Tx



